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Algebra 2
Practice Test — Sections 5.3 and 5.5 - 5.7

Name:

Factor each expression completely.
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Solve each equation by factoring. »
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Solve each equation by using the Square Root Property.
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Find the E::;iélue that would make each quadratic function a Perfe(-:t_Square Trinomial. Then write

the Perfect Square Trinomial.
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Solve each equation by Completing The Square.

13.x2 —-13x+36 =0
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Calculate the discriminant value and then determine the number and type of roots.
18.20x* +7x =3 > Jpyx 2, My =3 =L
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Solve each equation by using the Quadratic Formula.

22.x* —6x+3=0
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For each of the following functions, label the vertex, axis of symmetry, the direction in which
the graph opens, and how it compares to the parent function y = x%. Then sketch the graph.

25.y=(x—-3)* -1
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Write each quadratic function in vertex form.

29.y =x2+6x+2
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30.y = —3x2 + 24x
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3Ly =—-2x%—16x — 32

32.1f the vertex is (1, 3) and a point on the
function is (-2, -15)
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33.If the vertex is (-3, -1) and x-intercept is 6.
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